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ZI e sin cos tan
10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0.3640
35° 0,5736 0,8192 0,7002
45° 0,7071 0,7071 1,0000
50° 0.7660 0.6428 1,.1918
70° 0.9397 0.3420 2.7475
89° 0,9998 0.0175 57,2900

sinx = 0.5736

cosy = 0.9397

tanz = 2.7475

@1 @ 2 ® 3 @)5 ® 6

x=35°,y=20°,z="70°

SLXxXy+z-5=35%x20+70-5=5
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Zhe sin cos tan
40 0.6428 | 0.7660 & 0.8391
50 0.7660 | 0.6428 @ 1.1918
@D 6.428 m @ 7.660m ® 8.391m
@ 11.918m @14.088m

BC = 10sin50° = 10 x 0.7660 = 7.660( m)
AB = 10cos 50° = 10 x 0.6428 = 6.428(m)
whekA] 9] 1£0]= 7.660 + 6.428 = 14.088(m) ©]Tt.




